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Im 0.08 0.09 0.08 0.09 0.08 0.10|1 1 EIGREHR)
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EERREMGRE=2) VAT (EREE120) FFR
(ERK30E9H 10, 11 HAE D EHR)
ERE30FE10A2H
[RF A KR TR AR (BETHEYL)
EEERKERNEREI (FFHID)
BAES TR E B EE(U Sv/h)
s BE-BES
=E AR I=H12:4
No. |  THETH R4 FHEEL T AR | S0om £ dhaie GESEREION %
or
1m 4 [a] F11[m 4[] F£11[m 4 (gl F11[m
HEHR | AEREE | RERR | PR | AR | AEREE
X 50cm 0.08 0.07 0.06 0.06 0.06 0.08
104 | LWVbHETH REE NTAVIVDIIILRBE 9811H
1m 0.08 0.08 0.06 0.07 0.07 0.08
) ) ) 50cm 0.08 0.09 0.08 0.08 0.07 0.08
105 | LvbhET —ELE HZTUVDHE _ELEH 98 11H
1m 0.08 0.09 0.08 0.08 0.07 0.08
50cm 0.07 0.08 0.06 0.07 0.07 0.07
106 | LvbhETh hHEE MNLEYHE 9811H
1m 0.07 0.08 0.06 0.06 0.07 0.07
50cm 0.07 0.08 0.08 0.07 0.09 0.10
107 | LvbhEmh INERR LWhETIIEE/NER 9F11H
1m 0.07 0.08 0.08 0.08 0.08 0.09
‘ 50cm 0.10 0.08 0.09 0.10 0.09 0.09
108 | LvbhEth INEERR WhET LA ZESE ZINER 9H11H
1m 0.09 0.08 0.10 0.09 0.09 0.08

X IE11EHERRIEE, FH29F9A5HEMNMS10A13BICRELEIESRRERMRE=FIIAECERFE11ED IICETIHERR. EOMITOVTIE., HERICEEHT 5.
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